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PART A: Vocabulary & Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

This is the book ~—---eumee- yesterday from the library downtown.

1) he borrowed 2) he borrowed it 3) which borrowed 4) that he borrowed it
The accident could -———--- if it had not rained so hard.

1) prevented 2) have prevented 3) being prevented 4) have been prevented
The 150-year-old ------—- built house of wood and stone is set in 50 acres of forest land.

1) solid 2) solidly 3) solidity 4) solidified

I’m sure that --—-—— as a hotel manager, you must have interesting stories to tell about guests.
1) work 2) working 3) you work 4) you are working
It is not surprising that people -~ were afraid of nearly all natural phenomena.

1) in the past 2) of past 3) past 4) in past

Now that we have approval we may -—------— the scheme as previously agreed.

1) derive 2) involve 3) execute 4) function

I - with your request, we will not deal any further with your complaint.

1) evidence 2) response 3) similarity 4) conformity

The country’s two biggest banks are planning to -~ to fight off competition from abread.
1} merge 2) resolve 3) restrict 4) pursue

They’ve been trying to settle the —-—— over working conditions for the last three days.

1) welfare 2) dispute 3) revenue 4) paradigm

She might be more —-—- to the idea if you explained how much money it would save,

1} suggestive 2) attributable 3) amenable 4) considerate
Criminal law is not really his -———; he specializes in civil law,

1) sphere 2} region 3) entity 4) province

He got hold of the money legally, without --~----- to violence.

1) resort 2) credit 3} impact 4) grant

They said I wouldn’t have to do any housework as a baby-sitter so making me clean the bedroom was
a ---—---—- of promise.

1) bias 2) breach 3) coherence 4) duration

There are signs all over the building: ‘Please ~~---—— from smoking.’

1) deny 2) prohibit 3) refrain 4) emerge : _
Nineteeth century novelists wrote numerous books on the -———— of workers in the early capitalist
society.

1) reliance 2) exploitation 3) consequence 4) implementation

PART B: Cloze Test

Directions: Choose the answer (1), (2), (3), or (4) that best completes the blank in the
Sfollowing passage. Then, mark the correct choice on your answer sheet.

In addition to bilateral extradition arrangements, whether (76) ---————- way of treaty or of reciprocal
application of municipal laws, (77) ~~=------- a growing number of multilateral arrangements among groups of
States (78) ---—-umm- geographical propinquity or pelitical links. Reciprocating national legislation provides
the basis (79) ---mmeamem- between members of the British Commonwealth of Nations, (80} --—----—-—-— do not
regard each other, for these purposes, as foreign States. '
1) by 2} in 3)on - 4)of
1)itis 2) they are 3) there is 4) there are
1) having 2) to have 3) they have 4) that they have
1) to extradite 2) to extraditing 3) for extradition 4) for extraditing

1) who 2) that 3) whom 4) which
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing
choice (1), (2), (3), or (4).Then mark the correct choice on your answer sheet.

The acquisition of independence by former colonies, protectorates and trust territories is the most present-
day form of change of sovereignty giving rise to problems of State succession. The traditional forms of
change of sovereignty by way of cession, conquest and annexation have all but become extinct in the post-
1945 world, although one traditional form, that of a merger of two or more States is still a current
phenomenon. With the advent of a new form of State succession have come legal problems that are not
readily solved by reference to the precedents arising from the traditional experience. The law governing the
international legal consequences of such a change of sovereignty is therefore in developing stage; while a
pattern or State practice can be seen to be emerging with a tolerable degree of clarity, it may be too early yet
1o State with finality a set of rules that would gain universal acceptance. The traditional view of the effect of
a breaking away of a portion of one State to become an independent sovereign entity on the continuity of
treaty obligations previously affecting that territorial area has been one of nonsuccession; a new State has

been said to begin its life with ‘a clean slate’ so far as the treaties of its predecessor are concerned, with the
exception of treaties of a dispositive character.

It is stated in the passage that -—-——- .

1) traditional forms of change of sovereignty have not altogether become extinct

2) cession; conquest and annexation have changed form after 1945

3) state succession is no longer a major issue in acquisition of independence

4) former colonies, protectorates and trust territories usually become independent states

We might understand from the passage that -—-—--.

1) legal problems often apply to new cases of cession, conquest and annexation

2) new forms of state succession are legally less significant than the traditional forms

3) experience tells us that sovercignty issues are in most cases overshadowed by succession problems
4) traditional forms of change of sovereignty were often solved by reference to precedents

The passage mentions that -——---- .

1) legal experts are developing a set of rules to apply to all forms of succession

2) there is wide disagreement on the way sovereignty would change in former times

3) clarity is the most important issue in any interpretation of succession rules
4) there dre hardly any universal rules concerning new forms of State succession

A new independent sovereign state, according to the passage, -----——- —.

1) is generally not bound by the treaties of its predecessor

2) will always be associated with its life as it was lived in former times

3) depends on the universai rules of all states which have become newly independent

4) breaks away as a portion of another independent state and so relies on its rules

The word ‘advent’ (underlined) is closest to -----—-~ .

1) “acquisition’ 2) ‘emergence’ 3) *significance’ 4) ‘identification’

Sate responsibility'is a complex issue. The International Law Commission initiated a study of state
responsibility in 1949. The Commission’s early efforts to produce a draft Convention linking questions of
responsibility generally with responsibility for the treatment of aliens in particular proved inconclusive. The
Commission reconvened in 1969 and this time confined itself to considering the general issues of
responsibility. Thirty five draft articles indicating when responsibility may be incurred have been adopted by
the Commission. The draft articles are concerned with the content, forms and degrees of state responsibility.
All states are equally responsible under nternational taw for their illegal acts. This rule is absolute. A state
cannot, for example, plead lack of capacity. ‘New’ states do not enjoy a period of grace before they assume
responsibility for the discharge of their obligations. A state cannot relieve itself of responsibility by invoking
gither provisions of omissions of its domestic legislation. In a federal state, such as Canada or the United
States, the federal government is responsible on the international plane and will incur international liability



87-

89-

1 axnis (Jalloyas B9io) pamadki Gl

for any actions or omissions of its member states which result in international injury. A federal government

may not exonerate itself of responsibility by submitting that individual member states are independent or
autonomous.

It might be understood from the passage that -—---. —

1) aliens are at the centre of issues related to a state’s obligations towards its citizens

2) issues of state responsibility were of more practical concern in 1949 than it 1969

3) general issues of state responsibility are more easily dealt with than the specific ones

4} it may take up to twenty years to solve even simple issues of state responsibility

The passage suggests that —--— - . '

I} draft articles are nearly the means of the International Law Commission exercising its authority

2) the period between 1949 to 1969 was an effective period in the activities of the International Law
commission

3) it is not possible to adapt draft articles is the International Law Commission is not incurred

4) 1969 marks a turning point in the activities of the International Law Commission on state responsibility

We can infer from the passage that - -

1) some states act illegally as far as the international law is concerned

2) the laws inside a country can in no way stand in the way of its international obligations

3} it is unlikely that a state can have lack of capacity in fulfilling its obligations

4) most countries assume responsibility for their action because they are unaware of the consequences

The passage states that --————-.

1) individual member states in a federal government are subject to independent international jurisdiction

2) responsibilities are best discharged in federal governments as each member state is autonomous

3) a federal government does not differ from other forms of government in terms of its international
responsibilities

4) federal governments can in certain cases plead lack of capacity in discharging their responsibility

The word ‘grace’ (underlined) in the passage is most closely associated with the concept of .

1) ‘time’ - 2) ‘excuse’ 3) ‘legality’ 4) ‘kindness’




	Image1
	Image2
	Image3
	Image4
	Image5
	Image6
	Image7
	Image8
	Image9
	Image10

